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√

Q(p)R(p), Φ(p) = (ψ(p) − κ(p))(ϕ′(p))−1,
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Φ(p)(Q(p)ψ2(p))′ = 2ψ(p)(pκ(p) − ϕ(p)), Φ(p)(R(p)κ2(p))′ = 2κ(p)(ϕ(p) − pψ(p)),
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A1Φ(p) = (C3 − C2)ψ(p)κ(p) +B2κ(p) −B3ψ(p) + A2 − A3,

A2Φ(p)Q′(p) = 2[(C1 − C3)κ(p)ϕ(p) − κ(p)(B1p+ s) +B3ϕ(p) − λ+ (A3 − A1)p],

A3Φ(p)R′(p) = 2[(C2 − C1)ϕ(p)ψ(p) + ψ(p)(B1p+ s) −B2ϕ(p) + λ+ (A1 − A2)p];
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ϕ2(p)−1+Q(p)ψ2(p)+R(p)κ2(p) = 0, (A1p+λ)ϕ(p)+A2Q(p)ψ(p)+A3R(p)κ(p) = k;
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[Q(p)(A2 + C2ψ
2(p)) +R(p)(A3 + C3κ

2(p)) + C1ϕ
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2 − 2sϕ(p)]′ = �0���

= 2[(B1 −B3)pψ(p) + (B2 −B1)pκ(p) + (B3 −B2)ϕ(p)]
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Q(p)R(p).
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¾
m ≤ 4

� Ë�Á³@¹Øã? C Ú���@� F Y��	�	�	W 
4Q ��� � �	W���W���W ��� W F�é3Ã�Æ
Ã�Ó	¼�Ã�ÁçÂÍÆ!À>Ë�Ë�Á¦Ç>Ä�Æ
Ã�¿
¾
ÞêÅ>Ä�Ç�Æ
Ç�È�ÇsÅ�À>Æ
¾!À>¿�Ä&Àb¾�ÊV��? D ��@ü4Ç�Èz¼�ÀP¾�Ê�� ö��~¿!À�Ò�Ç�¼�¾
Á

q2 = Q(p) = b2p
2 + b1p+ b0, r2 = R(p) = c2p

2 + c1p+ c0,

ν1 = ϕ(p) = a2p
2 + a1p+ a0, ν2 = qψ(p), ν3 = rκ(p),

��?�?��

ψ(p) = g1p+ g0, κ(p) = f1p+ f0.

é3Ç�¼�Ë�Ä&À>Å�¾
Á�Ê�¿!À+Ð
Ã�¿
¾�×æ¼
É!×èÂ�Ç�Á¦ß
Ç�¿
Ã�¿�ÄâÅ�Ã�Â�Ä�Ç�Æ
Ç�Å
ω
¾

ν
¾�Ê���?�?��3ÅZÔ	Æ!À>Å�¿
Ã�¿
¾�×���Ù���äy�Ûí���@

é3Æ
¾
Æ!À&Å�¿
¾
Å�À&×hÂ�Ç�ð�î²î²¾
ï
¾
Ã�¿�Ä�Ñ/ß
Æ
¾hÇ�¼�¾
¿!À>Â	Ç�Å�Ñ~Ò#Ë�Ä�Ã�ß
Ã�¿�×	ÒGÁ¦¿
Ç�È�Ç�Ð	É�Ã�¿
Ç�Å
ä!Ë�Ä�Ç+×�ì:¾	ÒZÅPÉ�Ã�Å�Ñ~Ò
¾kß
Æ!À>Å�Ñ~ÒkÐ!À>Ë�Ä+×	ÒæÂ	À&ÖW¼�Ç�È�ÇgÔ	Æ!À>Å�¿
Ã�¿
¾�×æË�¾
Ë�Ä�Ã�Á¦Ñ��Ûí���ä�Ê+À>Â	É�Þ¨Ð!À>Ã�Á5ä¹Ð�Ä�ÇZÁNÀ&Ä�Æ
¾
ï!À

C
ÅgÔ	Æ!À>Å&Õ

¿
Ã�¿
¾�×�¼�Å>¾�ÖWÃ�¿
¾�×���?��W¿
ÃGÅ&Ò�Ç�¼�¾�Ä�@5ÜNÉ�Ã�¼�Ç�Å�À�Ä�Ã�É�Î�¿
Ç
ä¸ß
Ã�Æ
Å�Ç�ÃZÔ	Æ!À>Å�¿
Ã�¿
¾
ÃU¾�Êj�Ûí��PÁ¦Ç�ÖPÃ�ÄèÌ�Ñ¸Ä�Î
Ä�Ç+ÖW¼�Ã�Ë�Ä�Å�Ç�Á�ß
Ç

p
Ä�Ç&É�Î�Â�Ç\ß
Æ
¾hÅ�Ñ³ß
Ç&É�¿
Ã�¿
¾
¾hÔ�Ë�É�Ç�Å�¾�×

B2f1 = B3g1.
��? C �

Ü½Ô	Ð
Ã�Ä�Ç�ÁûÆ!À>Å>Ã�¿
Ë�Ä�Å�ÀS��? C �~ß
Ã�Æ
Å�Ç�Ã1¼�¾
¿!À>Á¦¾
Ð
Ã�Ë�Â�Ç�Ã²Ô	Æ!À>Å�¿
Ã�¾
Ãb¾�Ê��Ûí��8Ê+À>ß
¾�Ï:Ã�Á�Ä&À>Â

Φ(p) = Φ0,
Èª¼�Ã

Φ0 = (B2f0 −B3g0 + A2 − A3)A
−1

1
.

��?+=��

$3Ë�Â	É�Þ¨Ð
¾
Á½¾�Ê²Ô	Æ!À>Å�¿
Ã�¿
¾
ÓZË�¾
Ë�Ä�Ã�Á���Ù���ä��Ûí��~î3Ô	¿
Â
ï
¾
Þ
Φ(p)

Ë²ß
Ç�Á¦Ç>ì:Î�Þl��?�=���@

Ù>ö
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$3Ë�ß
Ç&É�Î>Ê�Ô�×hÆ!À>Å�Ã�¿
Ë�Ä�Å�ÇS��? C �~¾hß
Ç&É�À>È�À&× f0 = g0

ä!ß
Ç&É!Ô	Ð
¾
Á

f1 = B3B
−1

2
g1, B1 = (B2 −B3)(2Φ0)

−1, a2 = (B2 −B3)g1(2B2Φ0)
−1, a1 = 0,

a0 =
g0 {A2B

2

3
(B2(1 + 4Φ0) −B3(1 + 2Φ0)) + A3B

2

2
(B2(2Φ0 − 1) +B3(1 − 4Φ0))}

12(B3 −B2)B2B
2

3
g1Φ0

;

b2 = ((2Φ0 + 1)B3 −B2)(4Φ
2

0
B2)

−1, b1 = g0(B2(1 + 4Φ0) −B3(1 + 2Φ0))(6Φ
2

0
B2g1)

−1; ��?�ö��
c2 = ((1 − 2Φ0)B2 −B3)(4Φ

2

0
B3)

−1, c1 = g0B2(B2(2Φ0 − 1) +B3(1 − 4Φ0))(6Φ
2

0
B2

3
g1)

−1;

b0 = g0

B2

3
(B3(1 + 2Φ0) −B2(1 + 4Φ0))(A2 + g0(B3 −B2)) + A3B

2

2
(B2(1 − 2Φ0) +B3(4Φ0 − 1))

12(B3 −B2)B2B
2

3
g2

1
Φ2

0

,

c0 = g0

B2

2
(B2(1 − 2Φ0) +B3(4Φ0 − 1))(g0(B3 −B2) − A3) + A2B

2

3
(B2(1 + 4Φ0) −B3(1 + 2Φ0))

12(B3 −B2)B3

3
g2

1
Φ2

0

,

2g0(B3 −B2) (B2(A1 − A3) +B3(A2 − A1)) = (A2 − A3) (B3(2A2 − A1) +B2(A1 − 2A3)) ;

s = {(B2 −B3)(A2 − 2B2g0) + 2Φ0(2B2(A3 − A1) −B3A2)} (4Φ0B3g1)
−1,

λ = (B3a0 − g0s) + A2g0(B3(1 + 2Φ0) −B2(1 + 4Φ0))(12B2g1Φ0)
−1.

é3Æ
¾#Ô�Ë�É�Ç�Å�¾�×	Òz��?�ö��~Æ
Ã�Ï:Ã�¿
¾
Ã²Ô	Æ!À>Å�¿
Ã�¿
¾
Ó,��?���ä!� C �¸¾
Á¦Ã�Ã�ÄÍÅ�¾	¼

q2 = Q(p) = b2p
2 + b1p+ b0, r

2 = R(p) = c2p
2 + c1p+ c0, ν1 = ϕ(p) = a2p

2 + a0,

ν2 = (g1p+ g0)(b2p
2 + b1p+ b0)

1/2, ν3 = (f1p+ g0)(c2p
2 + c1p+ c0)

1/2,
��?�;��

ṗ = (2a2)
−1(g1 − f1)

[

(b2p
2 + b1p+ b0)(c2p

2 + c1p+ c0)
]1/2

.

é3Æ
¾
Á¦Ã�Ææ¼�Ã�Ó
Ë�Ä�Å�¾�Ä�Ã�É�Î�¿
Ç�Ë�Ä�¾ñÆ
Ã�Ï:Ã�¿
¾�×���?�;��3Ä&À>Â�Ç�Å�'
C1 = C2 = C3, B2 = 2B3 = b

ä
Ai = a (i = 1, 3), 3bg0 = −a, g1 = 2

√
3g2

0
(a > 0, b > 0)

@
»úð�Ä�Ç�Á�Ë�É!Ô	Ð!À>Ãb¾
Á¦Ã�Ã�Á

q2 = Q(p) = 3(−2p2+9µ2), r2 = R(p) = 3(5p2+2
√

3µp−15µ2), ν1 = ϕ(p) =
√

3

(

− p2

3µ2
+ 1

)

,

ν2 =
1

3µ
(2µ−1p−

√
3)(−2p2 + 9µ2)1/2, ν3 =

1

3µ
(µ−1p−

√
3)(5p2 + 2

√
3µp− 15µ2)1/2,

ṗ = −1

2
((−2p2 + 9µ2)(5p2 + 2

√
3µp− 15µ2))1/2;

Èz¼�Ã
µ =

b

a

ä −3
√

2µ

2
< p < −

√
3(1 +

√
26)

5
µ
¾ √

3(
√

26 − 1)

5
µ < p <

3
√

2µ

2

@

Ù�;



��� ��� ���! #"

»ùð�Ä�Ç�ÁëÆ
Ã�Ï:Ã�¿
¾
¾kÇ�Ë�Ä&À�É�Ëz×âË�Å�Ç�Ì�Ç�¼�¿
Ñ³ÓUß!À>Æ!À>Á¦Ã�Ä�Æ
µ
ä�Â�Ç>Ä�Ç�Æ
Ñ³Ó�ä�Å�Ç�Ç�Ì>ì:Ã:È�Ç�Å�Ç�Æ�×�ä�¿
Ã�Ë�Ô�ì:Ã�Õ

Ë�Ä�Å>Ã�¿
¿
Ñ5Ó ý Ã�È�Ç\Á¦Ç�ÖÍ¿
Ç:Ô�Ë�Ä�Æ!À>¿
¾�Ä�ÎÍß
Ã�Æ
Ã�Ò�Ç�¼�Ç�Á½ÂhÌ>Ã�Ê�Æ!À&Ê�Á¦Ã�Æ
¿
Ñ5Á½Å�Ã�É�¾
Ð
¾
¿!À>Á³@c F p Z%�Y
4Q�_
n = m = 1 � n1 = m1 = l = 2

Fym�À>Ë�Ë�Á¦Ç>Ä�Æ
¾
ÁøÄ�Æ
Ã�Ä�¾
ÓõÅ�À>Æ
¾!À>¿�ÄU¾�Ê���? D ��@ü4Ç�Èz¼�ÀP¾�Ê�� ö��~ß
Ç&É!Ô	Ð
¾
Á

q2 = Q(p) = b1p+ b0, r2 = R(p) = c1p+ c0, ν1 = ϕ(p) = a2p
2 + a1p+ a0, ��?+Ù��

ν2 = qψ(p), ν3 = rκ(p), ψ(p) = g2p
2 + g1p+ g0, κ(p) = f2p

2 + f1p+ f0.

é3Ç�¼�Ë�Ä&À>Å�¾
Áa��?+Ù��¸¾Gî3Ô	¿
Â
ï
¾
Þ
Φ(p)

¾�Ê��Û;��³Å\Ô	Æ!À>Å�¿
Ã�¿
¾�×GË�¾
Ë�Ä�Ã�Át��Ù���ä%�Ûí���@!6¨Æ!À>Å�¿
Ã�¿
¾�×��Ûí��
Á¦Ç�È�Ô�Ä#Ì�Ñ¸Ä�ÎgÄ�Ç+ÖW¼�Ã�Ë�Ä�Å�À>Á¦¾kß
Ç

p
Ä�Ç&É�Î�Â�Ç#ß
Æ
¾âÅ>Ñ³ß
Ç&É�¿
Ã�¿
¾
¾âÔ�Ë�É�Ç�Å�¾
Ó

C1 = C2 = C3

ä
B1 = 0

@
»�Ë�¾	É!Ôâð�Ä�¾	ÒkÆ!À>Å�Ã�¿
Ë�Ä�ÅZ¾�ÊS�Û;��1Ë�É�Ã�¼!Ô�Ã�Ä�ä4Ð�Ä�Ç

Φ(p)
×
Å&É!×
Ã�Ä�Ëz×âÉ�¾
¿
Ã�Ó
¿
Ç�Óæî3Ô	¿
Â
ï
¾
Ã�Ó�@4é3Ç�ð�Ä�Ç�ÁwÔ

¾�Êbß
Ã�Æ
Å�Ç�È�ÇWÔ	Æ!À>Å�¿
Ã�¿
¾�×,�Ûí��8Ê+À>Â	É�Þ¨Ð!À>Ã�Á³ä!Ð�Ä�Ç

B2f2 = B3g2.
��?�í��

61Ð
¾�Ä�Ñ¸Å�À&×ZÆ!À>Å�Ã�¿
Ë�Ä�Å�ÇS��?�í���ä�Ê+À>ß
¾�Ï:Ã�Á½ß
Ã�Æ
Å�Ç�Ã3Ô	Æ!À>Å�¿
Ã�¿
¾
Ã��Ûí��~Å\Å�¾	¼�Ã

Φ(p) = D1p+D0,
Èª¼�Ã

D1 = (B2f1−B3g1)A
−1

1
, D0 = [(B2f0−B3g0)+A2−A3]A

−1

1
.
��?+A��

$3Ë�Â	É�Þ¨Ð
¾
Á ¾�ÊZÔ	Æ!À>Å�¿
Ã�¿
¾
Óa��Ù���äM�Ûí��Pî3Ô	¿
Â
ï
¾
Þ
Φ(p)

ËZß
Ç�Á¦Ç>ì:Î�Þ���?+A��W¾�ß
Ç>Ä�Æ
Ã�Ì>Ô�Ã�Á ¾	Ò
Å�Ñ¸ß
Ç&É�¿
Ã�¿
¾
ÃÝ¼
É!×WÉ�Þ¨Ì�Ñ~Ò

p
@	»õÆ
Ã�Ê�Ô+É�Î+Ä>À&Ä�Ã1ß
Ç&É!Ô	Ð
¾
ÁçË�¾
Ë�Ä�Ã�ÁwÔÍÔ�Ë�É�Ç�Å�¾
ÓJ¿!Àbß!À>Æ!À>Á¦Ã�Ä�Æ
Ñ½Ê+À�¼�À�Ð
¾

s = B2a2g
−1

2
;

��?D���

A2b1D1 = 2(B3a1 − f1s+ A3 − A1), A3c1D1 = 2(g1s−B2a1 + A1 − A2),

A2b1D0 = 2(B3a0 − (f0s+ λ)), A3c1D0 = 2((g0s+ λ) −B2a0);











� C>D �

5b1g2D1 = 2f2, 5c1f2D1 = −2g2;
� C ?��

(3b1g1 + 4b0g2)D1 + 5b1g2D0 = 2(f1 − a2), (3c1f1 + 4c0f2)D1 + 5c1f2D0 = 2(a2 − g1);
� C�C �

(b1g0 + 2b0g1)D1 + (3b1g1 + 4b0g2)D0 = 2(f0 − a1),

(c1f0 + 2c0f1)D1 + (3c1f1 + 4c0f2)D0 = 2(a1 − g0);











� C =��

(b1g0 + 2b0g1)D0 = −2a0, (c1f0 + 2c0f1)D0 = 2a0.
� C ö��

Q ¿!À+Ð
Ã�¿
¾�×gî3Ô	¿
Â
ï
¾
¾
Φ(p)

ä	Ô	Â	À&Ê+À>¿
¿
Ñ³Ã3ÅPÆ!À>Å>Ã�¿
Ë�Ä�Å�À�Ò��Û;���äY��?+A���ä	Ë�Ç�Å�ß!À+¼�À>ÞÝÄ:¼
É!×\É�Þ¨Ì�Ñ~Ò
pß
Æ
¾hÅ�Ñ³ß
Ç&É�¿
Ã�¿
¾
¾#Ô�Ë�É�Ç�Å�¾
Ó

g2 − f2 = 2a2D1, g1 − f1 = a1D1 + 2a2D0, g0 − f0 = a1D0.
� C ;��

m�À>Ë�Ë�Á¦Ç>Ä�Æ
Ã�¿
¾
Ãâ¾
¿�Ä�Ã�È�Æ!À�É�Àñß	É�Ç>ìPÀ�¼�Ã�Óú¾�Êj��A��\ß
Æ
¾
Å�Ç�¼�¾�ÄñÂ�¼�Ç�ß
Ç&É�¿
¾�Ä�Ã�É�Î�¿
Ç�ÁwÔ½Ô�Ë�É�Ç�Å�¾
Þ
A1a2 + A2b1g2 + A3c1f2 = 0

ä�Â�Ç>Ä�Ç�Æ
Ç�ÃPË:Ô	Ð
Ã�Ä�Ç�ÁùÆ!À>Å�Ã�¿
Ë�Ä�Åg¼
É!×
b1
¾
c1
¾�Êq� C ?��5¾ a2

¾�Êq� C ;��ß
Æ
¾
Á¦Ã�ÄÍÅ�¾	¼
(5A1 − 4A3)g2 = (5A1 − 4A2)f2.

� C Ù��

Ù�Ù
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üwÀ>ÂZÂ�À&Â
g2 6= 0

ä
f2 6= 0

¾
g2 6= f2

ä�Ä�ÇgÀ>¿!À�É�¾�Ê:Ë�Ç�Ç>Ä�¿
Ç>Ï:Ã�¿
¾�×j� C Ù��~¼�À>Ã�Ä\¼�Å�ÀÍÅ�Ç>Ê�Á¦Ç+ÖÍ¿
Ñ~ÒÅ�À>Æ
¾!À>¿�Ä>ÀPÔ�Ë�É�Ç�Å�¾
Óh¿!ÀWÁ¦Ç�Á¦Ã�¿�Ä�Ñê¾
¿
Ã�Æ
ï
¾
¾='

1. 5A1 6= 4A3, 5A1 6= 4A2, A2 6= A3; 2. A2 = A3, A1 = 0, 8A2.
� C í��

n¨Ä�Á¦Ã�Ä�¾
Á³ä~Ð�Ä�ÇkÃ�Ë�É�¾õ¼
É!×õî3Ô	¿
Â
ï
¾
Ó
Q(p) = b1p + b0

¾
R(p) = c1p + c0

¾
Á¦Ã�Ã�ÄèÁ¦Ã�Ë�Ä�Ç
Ë�Ç�Ç>Ä�¿
Ç>Ï:Ã�¿
¾
Ã

b1 + α2
Ë
1 = 0

ä�Èª¼�Ã
α ∈ R\{0} ä�Ä�ÇJË�Ô�ì:Ã�Ë�Ä�Å>Ç�Å�À>¿
¾
ÃPÇ�Ì>ì:Ã�È�ÇJß
Æ
Ç�Á¦Ã�Ö\Ô�Ä�Â�ÀÍß
Ç p äÅ\Â�Ç>Ä�Ç�Æ
Ç�Á

q2 = Q(p) > 0
¾
r2 = R(p) > 0

ä!Ç�ß
Æ
Ã�¼�Ã�É!×
Ã�Ä�Ë�×hÔ�Ë�É�Ç�Å�¾
Ã�Á

b0 + α2c0 > 0.
� C A��

ób¾
¿
Ã�Ó
¿!À&× Â�Ç�Á¦Ì�¾
¿!À>ï
¾�× Ô	Æ!À>Å�¿
Ã�¾
Ó � C ö�� ß
Æ
¾
Å�Ç+¼�¾�Ä Â Ë�Ç�Ç>Ä�¿
Ç>Ï:Ã�¿
¾
Þ
D0(b1g0 + c1f0 + 2b0g1 + 2c0f1) = 0

@~é1Ô�Ë�Ä�ÎñÅèð�Ä�Ç�Á Æ!À>Å�Ã�¿
Ë�Ä�Å�Ã
D0 6= 0

¾½Å�Ñ³ß
Ç&É�¿�×
ÞÝÄ�Ëz×
Ô�Ë�É�Ç�Å�¾�×hß
Ã�Æ
Å�Ç�È�Ç\Å�À>Æ
¾!À>¿�Ä&ÀW¾�Ê�� C í���@
ü�Ç�Èª¼�ÀPÆ!À>Å�Ã�¿
Ë�Ä�Å�ÇS� C Ù��8Ê+À>ß
¾�Ï:Ã�Á½ÅWÅ�¾	¼�Ã

f2 = α1g2,
Èª¼�Ã

α1 = (5A1 − 4A3)(5A1 − 4A2)
−1.

� C ���
à²ÀPÇ�Ë�¿
Ç�Å�À>¿
¾
¾z� C ���~Ë�Ç�Ç>Ä�¿
Ç>Ï:Ã�¿
¾
Ã.��?�í��~ß
Æ
¾
Å�Ç�¼�¾�ÄÍÂgÔ�Ë�É�Ç�Å�¾
Þ

B3 = α1B2.
��= D �

»÷Æ
Ã�Ê�Ô�É�Î�Ä&À&Ä�ÃZ¾
Ë�Ë�É�Ã�¼�Ç�Å�À>¿
¾�×½Ë�Ç�Å�Á¦Ã�Ë�Ä�¿
Ç>Ë�Ä�¾ûË�¾
Ë�Ä�Ã�Á¦Ñ Ô	Æ!À>Å�¿
Ã�¿
¾
Ó���?D��� ý � C ;���äF� C ����ä���= D �Ç>Ä�¿
Ç�Ë�¾�Ä�Ã�É�Î�¿
ÇÍß!À>Æ!À>Á¦Ã�Ä�Æ
Ç�Å
A1

ä
A2

ä
A3

ä
B2

ä
g1

¾
f1

ä
ß
Ç&É!Ô	Ð!À>Ã�Á�Ä�Æ
¾#Ô�Ë�É�Ç�Å�¾�×�ä!Ç�ß
Æ
Ã�¼�Ã�É!×
Ã�Á¦Ñ³Ã
Æ!À>Å�Ã�¿
Ë�Ä�Å�À>Á¦¾

b0 = (z1y2 − z2y1)(x1y2 − x2y1), c0 = (x1z2 − x2z1)(x1y2 − x2y1),
��=�?��

(z1y2 − z2y1)x3 + (x1z2 − x2z1)y3 = (x1y2 − x2y1)z3,Èz¼�Ã
x1 = −2(25 + 2β0γ2)D

2

1
g1 + 5(α1 − 1)γ2D1g1f1,

x2 = −8β0D
3

1
+2(10α1g1−5(1+α1)f1+2(1−α1)β0γ2g1)D

2

1
+(α1−1)γ2g1[(5α1+1)f1−6α2

1
g1]D1,

x3 = 4β0γ2g1D
2

1
+ (f1(11α1 − 1) − 10α2

1
g1)γ2g1D1;

y1 = α1x1f1g
−1

1
, y2 = α1{−8β0D

3

1
+ 2(10α1g1 − 5(1 + α1)f1+

+2(1 − α1)β0γ2f1D
2

1
+ (α1 − 1)γ2f1[(5α1 + 1)f1 − 6α2

1
g1]D1},

y3 = −8α1β0D
3

1
+2α1(10α1g1 −5(1+α1)f1 +2β0γ2f1)D

2

1
+α1[f1(11α1 −1)−10α2

1
g1]γ2f1D1;

z1 = 2D1{2β0γ0 − 5(β1 − β0)(1 − α2

1
)α−1

1
} + 5(1 − α1)γ1f

2

1
D−1

1
+

+f1{5(1 − α1)γ0 + 4β0γ1 − 25(α1 − 1)(1 − α2

1
)(2α1)

−1},
z2 = (α1−1){4β0γ0D0+(4β0γ1−(5α1+1)γ0)f1+6α2

1
γ0g1+(6α2

1
γ1g1f1−(5α1+1)γ1f

2

1
)D−1

1
},

z3 = (2(α1 − 1) − 4γ0)β0D1 + [(1 − 11α1)γ0 − 2, 5(1 − α2

1
) − 4β0γ1]f1+

+5α1(2α1γ0 + (1 − α))g1 + γ1f1((1 − 11α1)f1 + 10α2

1
g1)D

−1

1
;

Ù�í



��� ��� ���! #"

γ2 = 5B2A
−1

1
, γ1 = 5(α1 − 1)2B2(4α1A1)

−1,

γ0 = B2(α1 − 1)(β1 − β0)(A1α1)
−1 + (A2 − A3)A
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,
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,
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;
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−1. (36)
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